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TEMA	
  3	
  REPRESENTACIÓN	
  EXTERNA	
  
 
 

	
  
	
  

1. Resultado:

X(s) = 6+3s
s s2 +3 s+ 6( )

Transform.inversa! →!!!!! x(t) =1− e−1,5t cos 15
4
t + 15

5
e−1,5tsen 15

4
t

	
  
	
  
2. 	
  

  
3. Resultado:	
  

𝑥 𝑡 = −
25
9
+
10
3
𝑡 +

5
2
𝑒!! +

5
18
𝑒!!!	
  

𝑥 𝑡 =
1
2−

1
2 𝑒

−𝑡(𝑐𝑜𝑠𝑡+ 𝑠𝑒𝑛𝑡)	
  

𝑥 𝑡 =
2
𝜔! 1 − 𝑐𝑜𝑠𝜔𝑡 	
  

	
  
4. 	
  

	
  
5. Resultado:	
  Opción	
  c)	
  
	
   	
  
6. Resultado: Opción	
  a)	
  	
  	
  

	
  	
  
7. 	
  

	
  
8. 	
  Resultado:	
  

    	
  	
  

!! !
!!" !

= 1
!!!!!!!!!! + !!!!!!!! + !!!! !

 
	
  

	
  
9. 	
  	
  

	
  
10. 	
  

	
  
11. 	
  
	
  
12. Resultado:	
  

𝑌(𝑠)
𝑋(𝑠)

=
𝐴𝐵𝐶 + 𝐴(1 − 𝐶𝐷)(1 − 𝐸)

1 − 𝐶𝐷 + 𝐹𝐶
 
	
  

	
  
13. 	
  
	
  
14. Resultado:	
  

𝑌(𝑠)
𝑅(𝑠)

=
𝐺1𝐺2𝐺𝐶

1 + 𝐺2𝐺4 + 𝐺1𝐺2𝐺𝐶𝐻
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15. 	
  
	
  

16. Resultado:	
  
𝑌(𝑠)
𝑅(𝑠)

=
𝐺1 + 𝐺2

1 + 𝐺12 − 𝐺22
 
	
  

	
  
17. 	
  
	
  
18. Resultado:	
  

𝑌(𝑠)
𝑅(𝑠)

=
𝐺 +𝐻1
1 + 𝐺𝐻2

 
	
  

	
  
19. 	
  
	
  
20. Resultado:	
  
𝑌(𝑠) =

𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃
1 + 𝐺𝐶2𝐺𝑉𝐺𝑆2 + 𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃𝐺𝑆1

∙ 𝑅(𝑠) +
𝐺𝑃

1 + 𝐺𝐶2𝐺𝑉𝐺𝑆2 + 𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃𝐺𝑆1
∙ 𝐷2(𝑠) 

	
  
21. 	
  	
  

	
  
22. Resultado:	
  

	
  	
  	
  	
  

𝑌(𝑠)
𝑅(𝑠) &

𝐷1 = 0
𝐷2 = 0

� =
𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃

1 + 𝐺𝐶2𝐺𝑉𝐺𝑆2 + 𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃𝐺𝑆1
 
	
  

	
  	
  	
  
𝑌(𝑠)
𝐷1(𝑠)

' 𝑅 = 0
𝐷2 = 0

� =
𝐺𝑑(1 + 𝐺𝑆2𝐺𝐶2𝐺𝑉) + 𝐺𝐹𝐹𝐺𝑆3𝐺𝐶2𝐺𝑉𝐺𝑃
1 + 𝐺𝐶2𝐺𝑉𝐺𝑆2 + 𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃𝐺𝑆1

 
	
  

	
  

	
  	
  	
  	
  	
  	
  
𝑌(𝑠)
𝐷2(𝑠)

' 𝑅 = 0
𝐷1 = 0

� =
𝐺𝑃

1 + 𝐺𝐶2𝐺𝑉𝐺𝑆2 + 𝐺𝐶1𝐺𝐶2𝐺𝑉𝐺𝑃𝐺𝑆1
 
	
  

	
  
 


